Multiplicacao (multiplicando 3)
YIRS

Nome: Encontro: Data: Pontuagio:
2x3= 4x3 = 8§ x3 = 10x3 =
3x3= 10x3 = 3x3= S5x3=
2 X3 = 8§ X3 = 6x3= 7 %3 =
3 x3 = 10x3 = 2%x3= I x3=
8§ x3 = S5x3= I x3= 2x3=
S5x3= 4x3 = 6x3= 8§ X3 =
9x3 = 7 %3 = 2%xX3= 4x3 =
I x3= 9x3= 7 %3 = 2%xX3=
8§ x3 = 2x3= 6x3= 9 x3=
7T %3 = S5x3= 3x3= 2x3=
8§ X3 = 3 x3= 2 X3 = 3x3=
7 %3 = I x3 = 8 x3 = 7T x3 =
6 x3= 2x3=
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Multiplica¢ao (multiplicando 3)

Nome:

2x3=6

3x3=9

2x3=6

3x3=9

8 x3 =24

5x3=15

9x3=27

1 x3=3

8 x3 =24

7x3 =21

8§ x3 =124

7Tx3 =21

6x3=18

4x3=12

10 x3 =30

8§ x3 =124

10 x3 =30

5x3=15

7x3=21

9x3=27

2x3=6

5x3=15

3x3=9

1 x3=3

2x3=6

Encontro: Data:

8 x3 =24

3x3=9

6x3=18

2x3=6

1 x3=3

6x3=18

2x3=6

7x3=21

6x3=18

3x3=9

2x3=6

8§ x3 =24
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Pontuacao:

10 x3 =30

5x3=15

7x3 =21

1 x3=3

2x3=6

8x3 =24

4x3=12

2x3=6

9x3=27

2x3=6

3x3=9

7x3=21
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